Maytag A408 05 - CONTROL PARTS

No Document
Available

Maytag Residential Maytag A408 Washer Parts Parts Diagram 05 - CONTROL PARTS

Click on the part number to view part

Original Part Number Replaced By Part Description
1 202770 279347 Switch-Lid
2 203237 No.17 Wire With Terminal
4 204888 Not Available FILL HARNESS
5 204889 Timer
Plunger And Bracket

7 204968 Assembly--W
8 204969 Button Kit For 2-4890
9 205160 Not Available TOP COVER-WHITE
11 205170 521878 Studshelf

. CONTROL PANEL, SUN-
12 205192 Not Available GLOW

. CONTROL PANEL KIT, SUN-
13 205197 Not Available GLOW
14 214468 Not Available BRACKET-LEFT HAND
15 214469 Not Available BRACKET-RIGHT HAND

. TEMPERATURE CONTROL
16 205261 Not Available SWITCH

17 205262 Fabric Control Switch


http://www.pwslaundry.com/c-504362-residential-maytag-a408-washer-parts-for-repair-service
http://www.pwslaundry.com/i-10415045-maytag-279347-washer-dryer-switch-lid.html
http://www.pwslaundry.com/i-10401906-maytag-203237-washer-no-17-wire-with-terminal.html
http://www.pwslaundry.com/i-10402137-maytag-204889-washer-timer.html
http://www.pwslaundry.com/i-10406241-maytag-204968-washer-plunger-and-bracket-assembly-w.html
http://www.pwslaundry.com/i-10402138-maytag-204969-washer-button-kit-for-2-4890.html
http://www.pwslaundry.com/i-10407713-maytag-521878-washer-studshelf.html
http://www.pwslaundry.com/i-10402139-maytag-205262-washer-fabric-control-switch.html

18
19
20
21
22
23
24
25

26

27

28
29
30
31
32
33
34
35
36
37
38
39

40

41
42
43
44
45
46
47

205263
205321
205333
205336
205338
205339

212937
212942
213077
213117
213322

213720
213966

214196

214467
214471
410296
910182
204976
205033
211605

90767

22001619

67006908

3400014

22205033

Not Available

Not Available

Not Available

Not Available

Not Available

Not Available

Not Available

Not Available
Not Available

MAIN WIRE HARNESS
Temperature Control Switch
BUTTON KIT FOR 2-5261
Water Level Switch

Button Kit For 2-5336-1
Button Kit For 2-5336

Nut, Twin Speed

Spring, Index Wheel

Screw, 8A X 3/8 HeX Washer
Head Tapping

Screw, HeX Head No.8 X 3/8
Inch

Washer, Bracket To Top Cover
BARRIER, MOISTURE
Tube, Water Level Switch
CAP FOR TIMER KNOB
Screw, Ice Rack

MAYTAG DECAL

Fastener, Exhaust Duct Kit
Screw, No.6-20 X 1-1/8 Inch
Plunger, Lid Switch

LEVER, UNBALANCE
Spring, Lid Switch

Screw

TIMER KNOB-CLEAR
ACRYLIC

NUT

BACK-UP PLATE

Clamp, Manifold

Screw, No.6-20 1/2 Flthd Torx
Timer Motor 120-60 RPR
Motor- Tim

Bezel, Timer Dial


http://www.pwslaundry.com/i-10401944-maytag-205321-washer-temperature-control-switch.html
http://www.pwslaundry.com/i-10402116-maytag-205336-washer-water-level-switch.html
http://www.pwslaundry.com/i-10402117-maytag-205338-washer-button-kit-for-2-5336-1.html
http://www.pwslaundry.com/i-10402118-maytag-205339-washer-button-kit-for-2-5336.html
http://www.pwslaundry.com/i-10412614-maytag-210866-washer-dryer-nut-twin-speed.html
http://www.pwslaundry.com/i-10412753-maytag-211065-washer-dryer-spring-index-wheel.html
http://www.pwslaundry.com/i-10412063-maytag-90767-washer-dryer-screw-8a-x-3-8-hex-washer-head-tapping.html
http://www.pwslaundry.com/i-10407833-maytag-211410-washer-dryer-screw-hex-head-no-8-x-3-8-inch.html
http://www.pwslaundry.com/i-10414058-maytag-211500-washer-dryer-washer-bracket-to-top-cover.html
http://www.pwslaundry.com/i-10406322-maytag-22001619-washer-tube-water-level-switch.html
http://www.pwslaundry.com/i-10414243-maytag-67006908-washer-dryer-screw-ice-rack.html
http://www.pwslaundry.com/i-10409614-maytag-213323-washer-dryer-fastener-exhaust-duct-kit.html
http://www.pwslaundry.com/i-10409599-maytag-213501-washer-dryer-screw-no-6-20-x-1-1-8-inch.html
http://www.pwslaundry.com/i-10406248-maytag-213718-washer-plunger-lid-switch.html
http://www.pwslaundry.com/i-10406336-maytag-213720-washer-spring-lid-switch.html
http://www.pwslaundry.com/i-10414297-maytag-3400014-washer-dryer-screw.html
http://www.pwslaundry.com/i-10408588-maytag-596669-washer-dryer-clamp-manifold.html
http://www.pwslaundry.com/i-10409744-maytag-25-7809-washer-dryer-screw-no-6-20-1-2-flthd-torx.html
http://www.pwslaundry.com/i-10401930-maytag-204976-washer-timer-motor-120-60-rpr.html
http://www.pwslaundry.com/i-10407372-maytag-22205033-washer-motor-tim.html
http://www.pwslaundry.com/i-10414054-maytag-211605-washer-dryer-bezel-timer-dial.html

	Maytag A408 05 - CONTROL PARTS

